N & o & AF &2 H Ml A
20098 = =0l A LEHSIH L JIEFSE S A
wsHE
M H=zsns s4X&
2=2Hd HEX (el &)
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
Zut 8,284,736 5,173,411 3,111,325
= 194,400
s 114,000
& 2,001,634
Al 5,974,702
wE sS4 8,158,445 5,075,247 3,083, 198
= 194,400
s 114,000
< 2,001,634
Al 5,848,411
=3 MHEXA 2,154,648 1,974,726 179,922
= 204,634
Al 1,860,014
o2 L HA HEXJ 1,616,741 1,615,741 1,000
202 O4Hl 2,000 2,000 0
01 =LHAHI 2,000 2,000 0
O GERNEX L VSIS XSS
= 04l 2,000,000& 2,000
203 HRFL&H 4,000 3,000 1,000
03 AIMFAARFAH 4,000 3,000 1,000
OREHFD AMZHA2ETY|
4,000,000& 4,000
307 glz2told 1,610,741 1,610,741 0
09 2xgHEx=S 1,610,741 1,610,741 0
O 2=gH RIHEX 1,610,741,000& 1,610,741
AMUHA HEXA(SHIEX) 285,598 157,737 127,861
= 285,598
307 glzZtold 285,598 157,737 127,861
& 285,598
09 2xLYAHEXS 285,598 157,737 127,861
OAMUHBATHE XA 285,598,000& 285,598
< 285,598
AMUHA HEX(MHEE D) 233,420 196,598 36,822
308 AHXIHXMSOIH 233,420 196,598 36,822
05 XXSHHARES 233,420 196,598 36,822




SN RERFD
F: szsns s8N
tel: 222 HWEXH CER:E
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
O ANUHA HMEX& 233,420,000& 233,420
FAEgo 248 X2 11,109 4,650 6,459
= 5,096
Al 6,013
307 QI2toIA 11,109 4,650 6,459
= 5,096
Al 6,013
09 2xgAHEXS 11,109 4,650 6,459
OFaUEIEABMTRA 11,109,000& 11,109
= 5,096
Al 6,013
HEHA2HET 2 FA 400 0 400
= 250
Al 150
307 QI2t0IA 400 0 400
= 250
Al 150
02 2tHAEX 400 0 400
OWdHARE LA FA 400,000& 400
= 250
Al 150
ST MAAE 23| 7,380 0 7,380
& 3,690
Al 3,690
308 NXIEHHSOIE 7,380 0 7,380
= 3,690
Al 3,690
05 XXESHH2ARES3 7,380 0 7,380
OSHELAIAE 23| 7,380,000 7,380
= 3,690
Al 3,690
wWESZ ALY 4,285,000 1,353,260 2,931,740
s 114,000
= 1,557,000
Al 2,614,000
.




)

SH

ol

gt
s s8N
4 HE A

BT
CH

o g

==
=
=
=)
S 5}
=

[

_ _ - HEg
A -3 -H2A(SH) - HEAMY - BES A oK Ol & o8 Blns2
SNEE RAES 403,000 363,760 39,240
201 Yer2ddl 200,000 123,760 76,240
02 B2=24Hl 200,000 114,000 86,000
O NEANSE MRS L LEDAHZE S4A
Q3 160,000,000& 160,000
O nstsg 203tet KXY
10,000,0002 * 4742 40,000
207 1Ry 20,000 0 20,000
01 oiEa| 20,000 0 20,000
OXSAEHAl SM 2 20,000,0002 20,000
401 AlZH L2 160,000 240,000 80,000
01 Al&H] 160,000 240,000 80,000
O WEANEE RNES 160,000
- WSKSS 60,000,000 60,000
- WSHEIE L T2EHALY 70,000,0002 70,000
- HASSE 30,000,0002 30,000
405 XHAHSE S 23,000 0 23,000
01 XaLSEFSHI 23,000 0 23,000
O WEANE RANES L GBS XN
o Xy Py 23,000,000 23,000
SOMAIESE MUl & &3 654,000 989,500 A335,500
401 AlEHIL 2 654,000 980,000 326,000
01 Al&H] 650,000 975,000 A325,000
O WEFAIES HHl L =5 (pool 22|
) 650,000
- CHEA HEM(SSHA )
2,0002 * 200,000m * 13| 400,000
- nEAMSI(E) X ¥ 2el
50,000,000 * 204 A 100,000
- WSHEXE &3 ¢ 2e
200,0002 * 100X 20,000
- TRUAIE X ¢ 2
500,000 * 200K A 10,000
- AlRFoHolE SEASI 83 2 &
500,000 * 4004 A 20,000
- HASYE, EXE 8X L 22
10,000,000 * 107 2 100,000




M uSHZ L
HM: (Z5WE XS
ool DEEH WHAY (sl &
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
03 A&y 4,000 5,000 A 1,000
O WSetEAId=Z 34l & &5
4,000,000 4,000
AQNMAE F=H NESTAS(ESAIE) 3,000,000 0 3,000,000
= 1,500,000
Al 1,500,000
401 AIEZHIZLE204Y] 3,000,000 0 3,000,000
= 1,500,000
Al 1,500,000
01 Al&H| 3,000,000 0 3,000,000
OAQAMAZY NESHAS(BEAIL)
3,000,000, 000& 3,000,000
== 1,500,000
Al 1,500,000
WEAD 22 WA 228,000 0 228,000
g 114,000
= 57,000
Al 57,000
401 Al&EHIZLL204H] 228,000 0 228,000
g 114,000
= 57,000
Al 57,000
01 Al&H] 228,000 0 228,000
OQusSAIAE2R HEAS 228,000,000& 228,000
g 114,000
= 57,000
Al 57,000
WEONEH = 1,368,038 1,366,261 1,777
= 194,400
== 150,000
Al 1,023,638
=3 SEQSH SSEoD|AHYE &A= 456,038 452,261 3,777
308 XXIEHXMSOIA 456,038 452,261 3,777
05 AXIEH2tEE2 456,038 452,261 3,777
O+CASEHLIMESEOIBE 242
456,038,000& 456,038




nSHIE
zus s8X3
DEQHHY 2 LR
K- E3 .S (3H) - MBAY - B Ofl A o4 gggf; HRS2
NEDNSOOHE A& =8 50,000 0 50,000
207 AR INEHI 50,000 0 50,000
01 H3xE49H| 50,000 0 50,000
OXY nNESetMIIE2HE 8 50,000,000 50,000
SOotA FHAXN S SEHUHMFA 214,000 0 214,000
& 150,000
Al 64,000
401 AIEHIZL204H] 214,000 0 214,000
= 150,000
Al 64,000
01 Al&H| 214,000 0 214,000
OREHH FAX Y SLHHHEX
214,000,000 214,000
< 150,000
Al 64,000
=CH Z2ANE BISAIY 648,000 0 648,000
= 194,400
Al 453,600
401 AlEHIZL 204 648,000 0 648,000
= 194,400
Al 453,600
01 Al&H| 648,000 0 648,000
OxCd Z2H1S BIS AFE 648,000, 000& 648,000
= 194,400
Al 453,600
FAEX NS (=IHHEALEESIA) 191,812 167,373 24,439
HE=HI ROoIEI0e &9 33,200 14,400 18,800
201 LErEAH| 33,200 14,400 18,800
02 22294 33,200 14,400 18,800
OSYFEXIROZAI Mt 2 I
100,000 * 12 & 1,200
O=YH=EXRoHEIH S FXE |
1,000,000& =121 & 12,000
O=HF=EXRo =30 et 0l M|
20,000,000& 20,000
= X EXE &K 5,000 5,000 0




M DEBID
dH: HzuE 24X
el SEERN NCHA(FXIASHEN) (S92l
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
401 Al&BIZL20HYI 5,000 5,000 0
01 A&l 5,000 5,000 0
OFZXUSXNEXZ HE AX 5,000,000& 5,000
FEXLIE DS RRHE 13,270 12,501 769
101 ol t| 13,270 12,501 769
10 JI2ZHH22sSEs 13,270 12,501 769
OFXEHELE3H Hel FY 13,270
-JlEs 33,4003 »1H x280 9,352
-=55=g 33,4003 »1H x523= 1,737
-H Mg AlY| 80,000& x1H 1201 & 960
-—wWEE LI 60,0002 »1H 1204 & 720
-AXtsasSst=Y 33,4003 x1H +15¢ 501
SEYUFIL ANEHEXHA 135,042 132,582 2,460
101 ol t| 79,620 50,000 29,620
10 JIZtH2Z2NSES 79,620 50,000 29,620
O=sds SSIF:IEY 2eAUFY 39,810
-JlEs 33,4003 3% 280 28,056
=5 33,4003 »3H 523 5,211
-H Mg AlY| 80,0003 *3H «1201 & 2,880
-wWEE LI 60,0002 *3H 1200 & 2,160
-AXtsaSst=Y 33,4003 3 15 1,503
ORI =Jlet SHE5ARY 39,810
-JlEs 33,4003 3 x280 28,056
=54 33,4003 »3H x52= 5,211
- g Al 80,0003 *3H x1201 & 2,880
-—wWES2 Ll 60,000& *3H 1200 & 2,160
-AXRaEs It 33,4003 3 15 1,503
201 Let3| 52,422 37,782 14,640
01 At 2eld] 20,000 16,000 4,000
OFEX=sJAZ Al 11,000,000& 11,000
OF=E X2 0=Hl 150, 0002 *10H »23] 3,000




fA: nSHF
F: szsns s8N
tel: SHFAXN ANESCHS(FNZHALELSIA) (el &)
_ _ HET
A -3 -H2A(SH) - HEAMY - BES O AF K Ol AF o8 HwsZ
OLEAMA & 222 MA 1,500,000& 43| 6,000
02 2229l 32,422 21,782 10,640
ORFIIANES 46,200 x50 * 1204 = 2,772
OH=EELETE HSIHA 100, 000& »2CH 200
OU=SAEINLLEEE 250,000 2CH 500
OFH2E23 600,000 * 127K 2 7,200
OFINAAIZZ BRI ES
580,000 * 120 & 6,960
OFIR2INHZHISNES 1,200,000 1,200
LI L4 490,000 490
OH=sL28 ISR 3,000, 0002 *2CH 6,000
OJIHI2HEME XS XL 6,000,0002! *1CH 6,000
OJthete e MHEE28s 600,000 1 CH 600
OJtHHEHE XSS XA 500, 0003 1CH 500
202 04l 3,000 3,000 0
NEREEL 3,000 3,000 0
OSYFHI XS0 3,000,0002! 3,000
20X S X 22 5,300 2,890 2,410
201 ZEH2EH| 5,300 2,890 2,410
02 222 5,300 2,890 2,410
QARSI XS XAl 120,000 1CH 120
OHANSIEEZ 180,000 * 1CH 180
ORLIPE=SNEIN]:] 5,000,0002! *1CH 5,000
FUE SNRA(FIFALSLEIH) 138,947 143,627 4,680
SYFINE K22 131,420 125,101 6,319
201 Y29l 131,420 107,600 23,820
01 At 2eld] 12,520 14,000 A 1,480
OFIIQHMH AU S22 330,000« 1204 & 3,960
OXHIIAHMBHELHA =2
500,0002! *13] 500
OLst 2R RS2 330,000 * 120 2 3,960
22X = 150,000 *7 % 23] 2,100
OXMAEX=TE 2l ZFHIS X 2,000,000& 2,000




SH: DSBFDY
HM: (Z5WE XS
Sl F=XE SN2 (=XEAILS LS A) (&2 &2
SA-EH O (BH) - HBAY - B2 Ofl A o4 gggf; HRS2
02 =32gH| 118,900 93,600 25,300
OEIIR=2 50,000,000& 50,000
=] 1,250,000 1201 & 15,000
Os&IISXNE S| 200,000& *2CH =121 & 4,800
Ol & Bt X2 24| 6,000, 000& 6,000
O&IIANEF XN E I 8,000,000& 8,000
OZ XY 7 X E | 7,000,000& 7,000
OBl &2 H IS X E4=H| 1,200,000& 1,200
O&HIAIE =S 7 A2 4l 5,000, 000& 5,000
O HAIAE F A2 4=HI 1,500,000& 1,500
OArYANE=SFAE I 2,000,000& 2,000
O FXE gXzel 17,000,000& 17,000
OS2 IAFEAEZYY| 700,000& *23] 1,400
OlblbI(=XEEEY) 7,527 18,526 A 10,999
801 iyl bl 7,527 18,526 A 10,999
01 ollylbl 7,527 18,526 10,999
@0 |Ns]hs]l 7,527,000 7,527
ERFEES (AL S L) 20,000 70,000 50,000
W&ot =XH& &XIHl XI& 20,000 20,000 0
402 QI2tX 20| 20,000 20,000 0
01 QX2 EX 20,000 20,000 0
OWEF=EEXXNA 20,000,000& 20,000
58X0 jgs= 30,960 26, 164 4,79
eSS 2 30,960 26,164 4,79
S E2 24,560 16,264 8,296
201 LBt2Ad| 24,560 15,264 9,296
01 AtR22/d| 2,000 2,000 0
O NS Y s 23 AHAH S
2,000, 000& 2,000
02 3294l 22,560 13,264 9,296
O RERE 15,000,000& 15,000
O MNsxgds T2 K24
300,000& = 12& 3,600




SN DEBIIY
Mz g2N0 HYS=ue
ool FS=nel (5l &2
_ _ HE T
SN-EHH . SH(BH) - HPAY - BE2 0ff &+ o4 il b o B2
O SAZ T2 SA=at
165,002 * 122 1,980
O Mismex T2 SX24H|
165,002 * 122 1,980
NEXNDEHR ST oL 4 5,200 8,700 3,500
201 L2yl 3,000 2,000 1,000
01 AtRZ2Ib] 3,000 2,000 1,000
O NEX BEHE DNME R
1,500,0002 1,500
O HEX 2SHEE SN B2
2,0002 * 5002 X 1,000
O DXA 2871 +2/8l 500,0002 500
202 Ofl 1,200 1,200 0
01 =00l 1,200 1,200 0
O NESXUEZ =20
20,0002 * 2% * 302 1,200
405 THeHE S| 1,000 5,500 24,500
01 KA SEF S| 1,000 5,500 A4,500
O PISE Y| POA 2 (1CH) 700,000% 700
O Zalg (1) 300, 00021 300
LEHINY S HE 1,200 1,200 0
202 01l 1,200 1,200 0
01 =Loit] 1,200 1,200 0
O RLEIY NTHA0HY) 1,200,0002 1,200
HH2SAAL (RSB D) 95,331 0 95,331
clEe Y (NS 4,200 0 4,200
SN (DS D) 4,200 0 4,200
203 YREXY| 4,200 0 4,200
VTR 4,200 0 4,200
O BNSYYR =Y (3001015t
350,002 * 122 4,200
IIZ2ZH(RESE D) 67,080 0 67,080
2B (REAE ) 67,080 0 67,080
201 Ler2y| 23,400 0 23,400
01 A=aelt] 23,400 0 23,400
O EN2YAR BRI 23,400, 0002 23,400
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18,551
18,551

H3r
uiled!
pak=

=
o

s

<J

43,680
43,680
43,680
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1 H X120 B

43,680,000

[uinsd

8,818,000& *1/3

[uins

HF1H*22A 2H+ 1200 3

734,800

6,330

OHl(26%)
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=LHOHI
==

01

202 Oddl

50, 100 x1H»2&« 1204 &

b

00
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oF
rnJ
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5,500
5,500
5,500
5,500

501
1,737
960
720
5,500
5,500
5,500
5,500
5,500
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=

(e]]

1815
12012

2 %
5,500,000

o
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2] %1

33,4003 »1H #5652

33,400
60,0002 x 1+ 1201 &

80,000




